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2. (10 points) Derive a statistic that is a multiple of the allele froquency
What is the mean of this statistic?
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/6 Tag SNP Selection (10 points)

We are given the following matrix of corelations, r, hetween 10 SNP»
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3 MultiSNP Power (15 points)

Assume that we collect 5 independent SNPs. 3 have minor allele frequency (MAF) of 0.4 and 2 have MAF

of 0.2. Assume that relative risk of one of them is 2 (we do not know which one). Assume that we are
.' mﬂﬂndmwm With a = 0.05, what is the power of this association study”
. your answers in terms of ®(x) and &' (x) or puorm and guorm in R.
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Now assume that there are N* /2 case individuals and N /2 control
® & new statistic that follows the standard normal distribution.
ared to a study with N individuals?

x) and ®~!(x) or pnorm and quorm in R.



ation Statistics (10 points)

alloles {A.a}. After we sample 400 case and 400 control individuals, which gives
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in ¢ . Given a = 0,05, we want to test whether to reject or accept the null hypothesis.
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